m Bkt S30AXEMER

~EEHINE)T—a mE (Fiad) ~

<65EEKi 3EISHE>
fRE#E [7]

TrA=T4I<A>

ERE 260,000 A
RE 1,470 M/B x30= 44100 A
TAZT4EIk 1,309 /B x30= 39,270 H
AN2ANBEDIGE at 343,370 A
BENHE it 508,370 A
Tr*—T14ty:<B>
ERE 260,000 A
BE 1,470 /8 x 30= 44,100 A
T ATk 990 M/B x30= 29,700 A
AN2ANBEDIGE at 333,800 A
BENHE it 498,800 A
TrA—T14vr<C>
ERE 260,000 A
BE 1,470 A /B x 30= 44,100 M
T AT 4ty 627 M@ /B x30= 18,810 A
AN2ANBEDIGE at 322,910 A
BEDHE it 487,910 A

(BHER

5500 FH/8)

(EfZ=%8 5500 A/8)

(EfZ=%8 5500 A/8)

SF6E6H 1 BIER



m Bkt S30AXEMER

~EEHINE)T—a mE (Fiad) ~

<65k IFAME>
BREZR [1]

TrA=T4I<A>

ERE 180,000 mA
BE 1,470 A/B x30= 44100 H
TAZT1EYk 1,309 A/B x30= 39,270 A
AN 2ANBEDISE it 263,370 A
BENHE it 428,370 A
TrA—_T14tv:<B>
ERE 180,000 M
BE 1,470 M/8 x30= 44100 M
TAZT 4ty 990 M/B x30= 29,700 A
AN 2NEBDISE it 253,800 H
BEEDHE it 418,800 M
T A=_T14tyr<C>
ERE 180,000 HA
BE 1,470 A /B x30= 44100 H
FA=TF 4y 627 M /B x 30= 18,810 A
AN2NEBDIEE it 242910 M
BENHE it 407,910 H
2

(EfZ=%8 5500 H/8)

(EHRZEZE 5500 A/8)

(EfZ=%8 5500 H/H)

SF6E6H 1 BIER
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~EEHINE)T—a mE (Fiad) ~

<GSR 3EIEE>
BREZR [V]

TrA=—T4I9<A>

ERE 91,000 M
BE 1,470 B/B x30= 44100 H
T ATtk 1,309 A/8 x30= 39,270 A
AN2NEBEDISE it 174,370 A
BEDIGA &t 339,370 A
Tr*—T14ty:<B>
ERE 91,000 A
BRE 1,470 m/B x30= 44100 A
TAZT 4y 990 M/B x30= 29,700 A
AN2NEBDIGE it 164,800 A
BZEDIGE &t 329,800 H
TrA—T14tyr<C>
ERE 91,000 M
BE 1470 @ /8 x 30= 44100 A
FA=TF 4 yk 627 M /B x 30= 18,810 M
AN2NEBEDISE it 153,910 A
BZEDIGA &t 318,910 A

(EfZ=%8 5500 H/H)

(EHRZEZE 5500 A/8)

(EfZ=%8 5500 H/H)

SF6E6H 1 BIER
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~EEHINE)T—a mE (Fiad) ~

<65k IBAM>
PREEZE [T]

TrA=—T4I9<A>

ERE 57,600 A
RE 1,470 A/8 x30= 44100 A
TAZT1EYk 1,309 A/B x30= 39,270 A
AN2ANBEDISE it 140,970 A
BAZEDHE it 305,970 A
TrA—_T14tv:<B>
ERE 57,600 A
BE 1,470 M/8 x30= 44,100 M
TAZT 4y 990 M/B x30= 29,700 A
AN 2ANEEDISE it 131,400 A
BAEDHE it 296,400 M
TrA—T4tY<C>
ERE 57,600 A
BE 1,470 A /B x30= 44100 A
FA=TF 4 yk 627 M /B x 30= 18,810 M
AN2NE B DISE it 120,510 A
BAZEDHE it 285,510 A

(EfZ=%8 5500 H/H)

(EHRZEZE 5500 A/8)

(EfZ=%8 5500 H/H)

SF6E6H 1 BIER
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~EEHINE)T—a mE (Fiad) ~

<65k IBAM>
RS [#]

TrA=—T4I9<A>

ERE 35,400 A
a5 690 F/B  x30= 20,700 A
T ATtk 1,309 A/8 x30= 39,270 A
AN2NEBEDISE it 95,370 A
BEEDIHE it 260,370 A

TrA=—T4tY<B>

ERE 35,400 A
BE 690 /B x30= 20,700 A
T AT 4tk 990 F/B X 30= 29,700 A
AN2NERBDISE it 85,800 A
BEZEDBE it 250,800 M

TrA=—T4t9<C>

ERE 35,400 M

&% 690 F/B x30= 20,700 A

7 A= Ttk 627 M /B x 30= 18,810 M

IN2NBEDSE i 74910 A

BEEDHEE &t 239,910 A
5

(EfZ=%8 5500 H/H)

(EFZE% 5500 M/8)

(EfZ=%8 5500 H/H)

SF6E6H 1 BIER



